‘Init 3 Quadratics EOC Review
ractoring and Solving
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Which is a factor of x* — 1Lx + 247 Which of the following is one of the factors of
the expression below?
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Which shows the polynomial 8x% + 16x + 8 Written in factored form, the trinomial 2x? — 3v—5
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If (x-3) and (x + 7) are the factors of the What is the solution set of the e uation
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Applications - Word Problems

1.
The graph below shows the path of a football that
was kicked during a game.
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A ball is thrown straight up at an initial velocity
of 54 feet per second. The height of the ball
t seconds after it is thrown is given by the formula
h(t) = 54t — 12>. How many seconds after the ball
is thrown will it return to the ground?
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What was the maximum height of the football bhe-lac e s
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The graph below models the relationship between
the ticket price for a concert and the expected
profits.
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Which of these best describes the zero(s) of this
function?

/( 9 is the zero, and indicates when profit is at
the maximum

/B’./ —12,000 is the zero, and indicates the cost to
put on the concert

2 and 16 are the zeros, and indicate the ticket
price for which the profit is 0

D. 2 and 16 are the zeros, and indicate the
number of tickets sold for which the profit is
]

A cliff diver on a Caribbean island jumps from

a height of 105 feet, with an initial upward
velocity of 5 feet per second. An equation that
models the height, h(r), above the water, in feet,
of the diver in time elapsed, f, in_seconds, is
h(z) = -16¢* + 5t + 105. How :h} secon?fs)to the
nearest hundredth, does it take the diver to fall
4‘"5_"5@:”;@?10“' his starting point? o
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Ec: nsformations

1.

Which of the following most accurately describes
the translation of the graph y = (v + 3)> — 2 to the
graph of y = (x — 2)* + 27 W Lo pafld Ver+eXS
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J up 4 and 5 to the right ( o
B. down 2 and 2 to the right { - 9)

C. down 2 and 3 to the left

D. up 4 and 2 to the left
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Which equation can represent the parabola in the
diagram?
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Consider the graph of the equation y = ax? + bx+c
when a # 0. If a is multiplied by 3, what is true
of the graph of the resulting parabola?

»

A. The vertex is 3 units a bove the vertex of the
original parabola. c‘

B. The new parabola is 3 units to the right of
the original parabola. “‘;:

C. The new parabola is wider than the original
parabola.

' The new parabola is narrower than the
original parabola. A2
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Emily graphed the function y = ¥’ + 2. Mark
graphed y = 0.5x> + 2. If they both used the same
grid scdle, which statement describes Mark's graph

compared to Emily’s graph? 2 B
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Mark’s graph is wider.

B. Mark’s graph is narrower. *ﬂ e \{n ¥
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C. Mark’s graph has a lower y-intercept. ™ ¥
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D. Mark’s graph has a higher y-intercept.
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Beth and Jacob are graphing two equations on a

coordinate grid. Beth has graphed the equation
.

y=x+1

If Jacob graphs v = x? + 3, where will his graph
be in relation to the graph Beth made?

@ 2 units up B.

C. 2 units to the left D.

3 units up

3 units to the right

6.

Which equation represents the graph of y = ¥*
translated 1 unit right and 2 units down?

A, y=—(x-1)2-2
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Enls B B
C. y=—(x+1?+2 D
Re{le e Lutrfe W

N2
y=@+ =12
Le f4 BN




Graphing and Characteristics
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Which graph best represeats v = (v + 2)7 - 37
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What is the graph of the equation?

Which quadratic function, when graphed, has
x-intercepts of 4 and —3?
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y={x+3)(2x-8)
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= (3x+ 1)(8x - 2)

Which equation represents the parabola shown in
the accompanying graph?
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5.
What is the minimum_point of the graph of the

6.
What is the vertex of the graph of the equation

When f(x) = x —4x + 7 is written in the form
fx) = {x—2)* + 3, which properties of the graph
are revealed?

A.  Axis of symmetry, maximum

- ; 5.
Axis of symmetry, minimum

/@.’ Zeros, maximum

/Ef Zeros, minimum
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What is the y-intercept of the graph of the

equation y = 2 - 2x @ G € Vrl Wb
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